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Separate Optical Mark Reader (OMR) Answer Sheet is supplied to the candidate along with Question

1 - -
Paper Booklet. Please read and follow the instructions on the OMR Answer Sheet for marking the correcl
response.

VRO ETD o B e sRES 536, 646 (LIowb) zaed HF6 Lododndin, wafgied
a0 ?Eﬂ B008 Ldowd agran BEo D fof) drston EEdr S08003585%.
The Candidate should ensure that the Hall Ticket Number and Name of the Candidate are properly

printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to ensure

the booklet code printed on OMR Answer Sheet is same as the Question paper booklet code
supplied to you.

4588 Lol aamdgo) Sravods Hddos HESRE Sonb 5805w B D0 ol vondo B
O POEFSITRL. ofid S3% a)s Lloub 2w Jgo DE nEoDS wEDE 88, oys BTsde
b8 S0BoDH 2D F'E wfD wanss I8 soSrnrssdm,

Changing of answer is NOT Allowed.

2T I8 H0RHeS T Srinbh elidodntt.

# The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle of 1, 2, 3 or 4 in the OMR Answer Shect with Blue/Black Ball Point Pen, as it is not
possible to change or erase once darkened.

250 LJowsd 2I0dge D FrBous 2wk dihHdbe S8 sl Ezﬁgdgm ga%nn' S LoD
25208 Jeo BT Send erSIonodt IS 1,2,3,4 SYFTes” a8 HEmd) IS FoodSelo.

»  Use of Eraser or White Fluid on the OMR Answer Sheet is not permissible as the OMR Answer Shect
is machine gradable and it may lead to wrong evaluation.

Sarergofido ohoFo oo Baind Jod Lioed e Sgom 38 Fawd M), Gy R
Tk s G,

Immediately on opening the Question Paper Booklet by tearing off the paper seal please check

for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions

(1-200), (iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to
the invigilator and ask for replacement of booklet with same code within five minutes from the

commencement of the test.

0 PEH@o wETY b 2ubhs Jokd efilow dopror (i) d%% Tdrowodd wEBY &5
D718/ /6 D8 vED aFE T8 50800%5 5T, (ii) 1 08 200 365 Bien S5D o' a5
B0 36800 SDM. (ill) Bde Jomg Jod (iv) HDS So&m. DS D6, %) dacsr ot DB ﬁﬁ_j::a
595 Ghdeo edigien 8 DOgRESR Smb GRKDE D6 ST 5 ADTest FENRER) SrdnsED5,

- Electronic gadgets like Cell Phone, Pager, Caleulator, Electronic watches and Mathematical/Log Tablcs

are not permitted into the examination hall.
R0 Trenes s JtnSols J:JEER?E BOET BN eI HIY, has, FO8gBL6, au@-ag TR, 38/
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24, 25 & 26 and hialf mark for post

One mark will be awa ode 21,
code 22 & 23, Thercriei fﬁ; c::gr};t{isf:m;ffswcr RS
0% (D8 Bayaoks Y B'E 21, 24, 25 Hobosn 26 oo uf Srdy, FP FE 22 Sdcke 23 Tk g
Sl $LraN0TE0 BEOMH&I08, JenSol) Ky S, e . : ¢
Answers la the questions must be entered only on OMR Answer Sheet by completely shading the dppropnate
circle with Ball Point Pen (Blue or Black) only. n
Jeo T Jeod erdZoncds 8 LJous sowd@ed FET B3 Sy ISyl naEi
rBosSB. N ) )
The OMR Answer Sheet will be invalidated i the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.
L20u0 Baren S0 SyFod® DYSS® HoT B o Sy say) 28,3 oo o) &5, BET
DO HBT 0 SrogsT Rl H6rBosnsS.
The OMR Answer Sheet will not be valyed if the candidate
ogh Lol 2o DEon G BOS "}_;:6‘55_1;‘.1 358 dde aswddo Srargosso Do g, *
(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the space provided
for the purpose, !
Lalowl aaran SR Hrdods Hidfod® o°f FFERE Jowsdh I (DO¥ed” 8.4 @*53{5325531
(b) Writes any irrclevant matter including religious symbols, words, prayers or any communication what
50 ever in any part of the OMR Answer Sheet,
Ldowl aarw HFoD HdHERS DAY, Hmres, Hen, Ergisen 530 248 wlonodzosd Saroro

TR NB&8M8,
=

(c) Adopts any other malpractice.
Q0Sed DERSGS Sreydsl.

: Rougfu work should be done only in the space provided in the Question Paper Booklet.

EADEc enfBis” Sironedd HEfod® Sm@h B 55, BEDDH.

. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end

of the examination.
©gigh w830 S5 Frenes®s (HI00S dogd Hoz Sdooko Soof S6% achbd Sodadd.

. Ensure that the Tnvigilator puts his/her signature in the space provided on Question Paper Booklet and the

OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.

es5g8 335 prddo b3S 80D (HBYes” SYGDELI Gng), Hodlo SISV, vl Ldosl
adeobdEon vl Sirownodd (BEfos® &5 Sod¥o ToHEBR.

The candidate should write the Question Paper Booklet code and its serial number and sign in the space

provided in the Nominal Rolls.
TS &GP WgFodd |POTe” wgsd PTHEo wEBS §8 Hbcin TR (K3 SongS S5ABEM

|TroH5BH a8k JgFoDS BEos® Jodso DaDhIBH.

Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall, Failure to return the
OMR Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper
Booklet shall be taken away by the candidate and should be preserved till the declaration of results.

HEF FPen Sod wohit IPIYD LJosd 2aTrendiEy) SEBEHNE wolBEHIBR. LIous 2amdiFo
wodBaAd wisdn KBS Ssge S0F' S0 2hHdod Doy wE6 I0sed JenSBosns
(95 Tg). ©ei5n 6 PTHSING &5 Tob SSBFISNT 26 FOEODH Dulod S5 BmBEo

EBER Ei0 5Y @igm JSHaE Sk,

NOTE: If any ambiguity arises in translations in any question, then the text/matter stated in English

version shall be treated as final, since the Question paper booklet is printed in two languages
viz. English / Telugu or English / Urdu. =
BT B vhTTed' wdgd God, R0RS° V) BEY/IAcHo H0HIET T IeSITS.
Qo808 BTBBo B Bod rRLS’ SVBoSdIA. (R0AQ/Benih B rohS/EER)
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This booklet consists of 48 Pages including Cover Page and Pages of Rough Wark
& PTyHgo wEDEY ESHDE BHban 8D 35, LRoF 503 48 Dder 508 aNa
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Instructions :
(1)  One mark will be awarded for o very correct answer for post code 21, 24, 25 k 26 and half

(11)

ark mr pt:-at code 22 & 23. There are no nes gative marks.
ST T8 R §'5 21, 24, 25 S0 26 os oE Irdy, &9 5'6 22 S0 o5

13 5'3”"* ol S o b“"cc.m Sdo zoofedood. Sdndo® Soce e ;'n-dmm 3.

Choosc the Lﬁrrect or most appropriate answer from the given upunna to the following
quu.[mnw and darken, with blue/black ball point pen the corresponding digit (1), (2), (3) or
(4) in the cirele pertaining to the question number concerned in the OMR Answer Shect

separately supplied to vou.

BHS kNS B8 BHH ”55.5"'-‘“5 TES' B/GHR VSSrgrisnd IF T ArDoB
gos (1). (2), 3) SIS (4) Scomr ads (}'\Ih RIS HFSwGt (BH% NowofHodw
Ropgio b.}ﬂ’ﬂj ar/er§ oS Foawolds LR XA rhod AoNITH.

1. Choose the grammatically correct sentence.
(1) We are living in this house since 2010.
(2) We have been living in this house since 2010,
(3) We have been living in this house for 2010.
(4) We were living in this house since 2010.
2. Choose the meaning of the underlined phrase/idiom.
In order to achicve success one should be realistic rather than living in a fool’s paradise.
(1) false expectations (2) ambitions
(3) greedy (4) nosey
3.  Choose the meaning of the underlined phrase/idiom.
Almost all the political parties today love to play to the gallery.
(1) to be dishonest (2) to become popular
(3) appeal to popular taste (4) bring social reforms
4. Choose the meaning of the underlined phrase/idiom.
[f you study by bits and starts you can never achieve your goal.
(1) Regularly (2) Emotionally
(3) Seriously (4) Inconsistently
5. Choose the appropriate phrasal verb.
The novice teacher finds it difficult to the naughty boys in the class.
(1) puton (23 putupwith (3) putoff (4) putout
i-B
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6.  Choose the appropriate phrasal verb.
The cricket match wag ____dueto heavy rain.
(¥) called off (2) called of (3) calledat (4) calledin
7. Choose the appropriate phrasal verb,
Nothing on the earth can ____theloss of a child.
(13 make out (2) makeup for (3) makeover (4) makeup
8. Choose the correct passive form of the sentence.
The workers are painting the house.
(1)  The house was painted by the workers.
(2X. The house is being painted by the workers.
(3) Thehouse was being painted by the workers.
(4) The house is painted by the workers.
9. Choose the correct passive form of the sentence.
Joe was driving the car so fast that it skidded on the road.
(1)  The car was driven by Joe so fast that it skidded on the road,
(2) The car had been driven by Joe so fast that it skidded on the road.
(3) The car has been driven so fast that it skidded on the road.
(4) * The car was being driven by Joe so fast that it skidded on the road.
10.  Choose the correct form of the verb.
John T.V. when the door bell rang.
(1) amwatching (Z) waswatching
(3) was watched | (4) would be watching
11. Choose the correct form of the verb,.
No one is allowed to the trees in the forest.
(1y fell (2) fall (3) felled (4) fallen
12. Choose the correct order of the given jumbled sentence,
in India / art form / established ancient / street theatre / is a well
1 2 3 & 5
(1) 4,1,3,5,2 (2) 3,4,1,5,2 (3 4.1.5.39 4y 3,2,4,5.1
13.

Choosg the correct order of the given jumbled sentence.
on sceing the / first time? / Hari think / what did / cobra for the
1 2 3 4 5

(I) 4:311!255 {.2) 4}35 15552 (3) 35 5'—'41 112 (4) 4’3’ 5’2’1

www.sakshledtﬁc_aﬂon.com
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Choose the correct order of the given jumbled senfence.

she would cross /Kalpana Chawla said /as a child in Karna| /that she iever dreatrit/
1 2 3 4
the frontiers of space '
5

() L5342 (Z) 2,1.53.4 (3) 2,4,3,1,5 (4) 2,4,1,34
Read the following passage and answer the questions. (15 to 19 Questions)

Mano Majra 1s a tiny place. [t has only three brick buildings, one of which is the home of
the mom'ayl_ender Lala Ram Lal. The other two are the Sikh temple and the mosque. The three
srick buildings enclose a triangular common with a large Peepul tree in the middle. The rest of
he village is a cluster of flat-roofed mud huts and low-walled courtyards, which front on narrow
lanes thaF radiate from the centre. Soon the lanes dwindle into foot-paths and get lost in the
surrounding fields. At the western end of the village there is a pond ringed round by keekar trees.
There are only about seventy families in Mano Majra, and Lala Ram Lal’s is the only Hindu
family. The others are Sikhs or Muslims, about equal in number, The Sikhs own all the land
around the village; the Muslims are tenants and share the billing with the owners.

15. The place described in the passage is a

(1) City (27 Village (3) Town (4) Barracks
16. How many Hindu families are there?

(1) Seventy (23 One (3) Five (4) None

Who cultivate the land in Mano Majra?

(1) Jains (2 Muslims (3) Missionaries (4) Hindus

Lala Ramlal is a by profession.

(1) Tiller (2) Priest (33 Moneylender (4) Sweeper

What is located at the western end of the village?

(1) Mosque (2) RamLal’s house

(3) Peepul tree (4) Pond

Choose the word which is similar in meaning to the underlined word in the sentence.
Deforestation is responsible for the paucity of animal life.

(I) 1ncrease (2) shootup (3) scarcity (45 possibility
Choose the word which is similar in meaning to the underlined word in the sentence.
The building has been refurbished recently.

(I)« constructed (2) demolished
(3) disposed (4) renovated

www.sakgbiﬁducation.com
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22. Choose the antonym of the underlined word in the sentence.
He relinquished from the role of a manager last month,
(1) renounced (2) gaveup (3) retained (4) discontinued
23.  Choose the antonym of the underlined word in the sentence. L B
We are sanguine about the outcome of the meeting
(1) glommy (2) happy (3) confident  (4) genuine
24.  Choose the correct spelling, }
(1) Dilema (3) Dillema (3) Dilemma (4) Dillemma
25. Choose the correct spelling.
(1)  equipment (2) equiptment
(3) equippment (4) equipmant
26. Choose the appropriate preposition.
The custom is peculiar our culture.
(1) from (2) with (3) by (4) to
27. Choose the appropriate preposition.
Houses were builtin a longrow  the coast of the sea.
(1) between (2) beneath (3) under (4). along
28. Choose the grammatically correct sentence.
(1) Neither of the girls are willing to accepy the proposal.
(2) Neither of the girls 1s willing to accept the proposal.
(3) Neither of the girls have willing to accept the proposal.
(4) Neither of the girls were willing to accept the proposal.
29. Choose the grammatically correct sentence.
(1) Ramesh said that he will be ready in an hopr.
(2) Ramesh said that he will ready in an hour.
(3)  Ramesh said that he would be ready in an hour.
(4) Ramesh said that he be ready in an hour. 1
30. Choose the grammatically correct senfence.

(1) Roy came to the city last week.
(2) Roy has come to the city last week.
(3) Roy come to the city last week.
(4y Roy had come to the city last week.

www.sakshie%q(i?tion.com
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In questions from 31 to 36 each question has a sequence with one blank space. Identify the
correct answer among the given options that fits with the sequence to fill that blank.

31 00D 36 SE% Mo PHoes', KB PHS SN0 wE eREHS® wE g§ wr Gob. A
né'."}_‘]ref & LEITIE Hesd (SR Hod, & P Jroosad,

-

31.

129 141, 147, 159, 174,

(1) 189 (2) 186 (3) 192 4) 194

32. 101,105, 1'4; 139, 188, i
(1) 309 (2) 270 (3) 288 (4) 252

B, 7,26,83,. « 315
() 72 (2) 106 (35 124 4) 176

34. BDF, CFLDHL, _
(1) EIN 2) EKP (3) EIP (4) EIO

35. ES0J, F72L, H128P, K242V,
(1) A3B 2) G2IN (3) C36F (4) L288X

% BLUEGKM
(1) S 2) W ) Q 4 O

37. In a certain code, if ‘STATEMENT’ is coded as ‘GFYFUMULEF’, then the code for
‘CONCLUSION’ is
2% 900 §6&5* ‘STATEMENT % ‘GFYFUMULF ' §6 &7, 93¢ ‘CONCLUSION’
g, §6
(1) WKLWNFGRML, (1) WKLWNEGQKL
(3) WKLWMDGQKL (4) XMLXOFGRML

38. [If FLRX=6and EJOT =5, then DHLP =
FLRX = 6 560 EJOT =5 wowsd DHLP =
(D93 (¥ 4 (3) 7 (4) 8

39. Inacertain code if ‘ABILITY is coded as ‘ZYRORGRB’, then the code for ‘CULTURE'is
2% 303 FESTABILITY’ 2 ‘ZYRORGB’ m'§'6 3%, o3y, ‘CULTURE’ &8, §6
(1) XFOMRFIV (2) XFOHGIV

e KFOGFIV (4) XGPHGIV

o s www.saksgieducation.com
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40.  Sunil has put his watch on the table in such a way thatat 6 a.m, the hour hand points towards

North. In Whlﬂh dirﬂgﬁnn, [hﬂ II].i.n.'I.ltE h'ﬂﬂd w1]l pDi]T[ at 9: 15a.m?

(1) South-East (2) West (3) South
RS 85 KASIrESud e DeR &dao 6 fobw 5008, Il Hobe e wdl
845 Bordotsdy HoBi. f.,csoam Kon 9:15 Q1 © raa’:mﬁaainéﬁn es ﬁc;ho:irda mgb

ADTe SNy Wrdoih &F
(1) sfohsn (D 5858 (3) &8edw (4) a5

(4) North

A person P walks 10 meters towards South. Then he turns to his left and walks 20 meters
and then turns to his right. Then after walking 15 meters, he turns to his right and walks
20 meters. Finally he turns to his right and walks 10 meters, turns to his left and then walks

20 meters. The shortest distance from the starting point to his present position 1s

(1) 20 meters (2) 25 meters (3) 26 meters (4) 28 meters

P wd af 258 S @4 10 bJé.JdJ Sbord. 80 &S Dcﬁ.ﬁ:{ia o) ath 20 3):&.::5.3
580, 85 H6I8 FHk 8O, © SoqS 15 Db 589, 85 Ha%e 393 200
20 Dbl Seordo. VSOM &5 KBS HSK doa, 10 Dbl $6D; © SHTE 8%
DSBS Y 96A 20 Do) SBTd. wES 2ebedds Do Dok B &0

&%) FTIE fo §dy &rdo
(1) 20 D& (2, 25 Dol () 26%Rndp (Y 28 D0

42.

A man is facing East. He turns 45° in the clockwise direction and then another 90° in the
same direction and then 180° in the anticlockwise direction. Which direction is he facing

now?
(1) North (2) South-East (3) North-East (4) South

uf 538 ErdnSKH edsopomr I, wdh flcirdo Sney BOA (d3g)ads” 45°
BEAS Sad, ©B HIS* 506@0E 90° 8BAT R ST E SgBTE &¥S” 180° SOARNT,

Wi QP D B¥% whSupor I

(J!) &&do (2) whckho (3) éa?':ﬁgo' (4) BBod»

43.

A is a male. If A’s maternal uncle’s nnl}r 515ter s husband’s daughter isB, then A is the

(1) Brother of B - (2) UncleofB
(3) ' Father-in-law of B (4) Brother—m—law of B

A o€ Hiodod. A Sng, Sodrs G JBE S FY Dok, Srdd B ©on8,
wayd A

(1(,, B &x08), #ﬁﬂ?a‘.‘bfﬁ: !
(3) B/@nE)y SrHmd

(2) B&ng, $9 Sor Sod k), FEEOE
(4) B Qo) erd Sor wrddodd

—
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44.  Ram told a lady “you are my meternal great grand father’s only grand daughter’s daughter”.
Then that lady is Ram’s
(1) Mother (2) Daughter-in-law (3)  Aunt (4) Sister
o5 wl L,m Y a w5BY Snard g JsE STk HSrEH” want.
wdydy e L“} gmad odE),
(1) 48 (2) Blden
(3) 9 Bor Soid By B0 (42 #°630

43, IfVeena says “Sita’s father Raman is the only son of my father-in-law Mohan” then Sindhu,
who is the sister of Sita, is related to Mohan as
(1) Niece (2) Daughter
(3) Daughter-in-law (4) Grand daughter
D Shof), dod DBS, T Srdomtd IS Bk, oB wf Ko ol Hb wod,

B¢ BB Bans reof.S: Arros
, (1) 68 Bor FEGD 3578 0Hdhod (2) %53 bH&od
| (3) S vPHod (4 Hodoen ©Hdod

46, Among four friends the age of Mohit is thrice the age of Karthik. Tarun’s age is half that of
Karthik. Anuj is six years older than Karthik but six years younger to Mohit. Then who is

the eldest among these four?

(1) Tarun (2) Karthik (3) Anyj (4) Mohit

Soofhdy Dheos®, Arird Swy), So3h)) 585 BwE) Schidyy$ Sodittn, dde)
SR8 S0y 5‘6§ Sosdoyes® Sro. whd whard 565 0B e doSETres DEI
.rR} 32 S 506-"3 @t Do oren DHaTrk. wdyd T2 SIS R WE Saiide,dHse?

(1) 865 (2) 56§ (3) wiod @ IS

: ;- k1
7. Abusstarts from a place A and the number of woman in the bus is s of the number of men.
In the next stop B, 5 men got off the bus and 3 women got in. Now the number of men is
twice the number of women. Then total number of passengers in the bus when the bus

started from A is
A o3 (HEF50 $H08 poHeoBoN wl wdndod Ko Hirde Jopg, WodS™A YHDDO

Rogpgest %é S0éh. wd & SdHTd ﬁ{;a‘i;ﬁxz Be' A & 20dy) od aibdc Yhdoen

=4

B S06536 @m 8T, adP @ wSedd Yhde Doy, E‘"S—’ Somgk Do),
wond A 58 08y 20HeudbiDm ¢ adgbodie 3ugo Pobste Hopg
(1) 44 (3 33 (3) 22 4) 11
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If in a certain code, 917 = 56 and 826 = 36, then in that code 735 =
28 32@5‘5@" 917 = 56 558050 826 = 36 wondh @ §&S* 735 =
(1) 26 @) 20
(3)4 46 (4), 25

e T
A train T travelling at 93 km/hr crosses another train T, whose length is half of the length
of first train, moving in opposite direction at 51 kmv/hr, in 24 seconds. If the train T, passes
a bridge in 1 minute and 6 seconds, then the length of that bridge (in meters) is

93 8.0./ffo. BiBnd® PoSrEIHG) of Dow T, R FEHS® Hho FEHSH EOA
51 8.2u/Kf0. BKos* 55808 BIS* B8 0608 Be T, 24 WEFS® TLfiod.
3w T) 28 S085% oot 1 ddsn 6 DES 2855 6 5088 6P (HLES)
(1). 640 2y 860

(3) 1065 (4) 1240

50.

A train 476 meters long crosses a pole in 14 seconds. A person takes 7 minutes and
5 seconds to cross a platform whose length is equal to the distance covered by the trainin
20 seconds. Then the speed of that person (in meters/sec) is

476 . FdEPro € Beo, of Jondwis 14 Dogs” mréndiod. © Jw 20 g
BoSreiosie drddndty S5r880d SdHfe FEIFE0Dp, wE Sg8 7T ddodro
5 2830° o8 Ig)fiod. odyd & 558 Sof), Jrfdow (Dot DESST)

(1y }.2 2) 13 '

(3) 1.6 | ) 18

51/

S?Jmc city buses start from a bus station witha speed of 20 km/hr at intervals of 10 minutes
and moving on a straight road in the same direction. If a person is walking towards the
bus station on the same road meets the buses at intervals of 8 minutes, then his speed
(in km/hr) is -1
o8 aﬁ'@g&:ﬁ w00b 8 28 edoyen 8XT GY) ST
Kotk 20 8.5, BKS0E wobeodddhanon. ¥3 TR DI QPAS IYSH JED 39
88 & miyen 8 DWTe VoSEEROS o0, 68D Iisw (85006

z;éa‘ig_ﬂ
(04 iy @ 4

3) 5 @) 6
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52, ;i"; ?htfa??s A Bmll;d B are separated by 70 kms on a highway. One truck starts from A and
. _Cl nfmm oth at 10:00 a.m. When they travel in the same direction they meet each

other at 5:00 p.m. and if they travel towards each other, they mect atqll‘(JU a.m. The

difference between the speeds of these trucks (in km/hr) is

a8 S5 do A oo B @ SIRE-RALES DEgsrso 70 8., A Hood 2 L&Y,
B S08 %6 @i, 10:00 am & RoRBHh I, 9D o8 8FS* Holrdod i,
5:00 pm. §, 26 3PKK SOBNES HodrBodSHE 11:00 am. & Kesirom.
@ dodo |y o I BogigBes B (8.20/K0.)eres? N\
(1) 10 (2) 12 (3) 15 (4) 16

Directions for questions (33 to 55): Each of these questions has a statement followed by t-wn i

- conclusions I and II. Decide which of the conclusion(s) follow(s) from the statement. Mark

- answer as
(1), Ifconclusion (I) follows.

(2), If conclusion (1I) follows.
(3), If neither conclusion (I) nor (II) follows.

(4), Ifboth conclusions (I) and (II) follow.
PHoo 530008 55 56K drden: DéS* (D8 DHS’ el EIIS0, 52 Jowsd Joks wldodoe
(conclusions) €omo. SEDHSBS50 $0d ISS O wLHe VHVOTEF D& ATV .

250508 (I) SrEdh oD, b dSrmdso, (1) &
05508 (1) 3,8 eioddR, N JSrFse, (2) o
sosedeo (D), (1) ° 28 0HdboSENE, D J&reso, (3) o

Bodo wseden (1), (1) ©kbsS, & ddrgso, (4) v adg0d

53. Statement: A company asked its employees to declare their income and assets; but it has
been resisted by the employee’s union and no employee declared his income.

‘Conclusions: '
I) Theemployees of this company have no additional undisclosed income besides their
salary.

) The employee’s union wants all the employees not to declare their income.

BdESo @ 2E o, &8 &6 ghdes 70 eoro$Nn b wihud Pidod
LeySHm wHASE. 5a) & Dnodo ﬁrcﬁsﬂsﬁ Lohred @é&?ém‘&é& L0805
D 2§ G6gh 85 emed D5Ted PESoEBM. — —

widden (Homoen) e—

) & Eond Gnf), aEgiRos S50 TkoT D 68 VEEH 8O BIreb SNHW

a E80d.

83.
) ﬁﬁ*gﬁ HOHIND, ﬁrcﬁigﬁ@ﬂocﬁﬁﬁ 50 W0 ASGHRNLD Bgéoﬁég
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54. Statement : Chief Managerinformed his officers not to read newspapers during office hours,
Conclusions ;
D Reading newspapers during office hours is undesirable.
Il)  Office efficiency will not increase by not reading the news papers.
RSWS0 ;’mq:-g QUETRE 38 s Hed 50 ooHin AP0 DodSrest o

VB0 BESErES 8dchT b, ey
Oy (Bomyren) ! ' —
D, sogechin 3B dHredt Frn@ivs ShHh earosdoDBn

- ooy @80 IS5%0a doddo Sod sorgoch Fdggo DD

55. Statement : A bird in hand is better than two in bush.
Conclusions:
‘4, ) Weshould be content with what we have.
4 IT) * We should not crave for what we do not have.

DISS0 1 PSS To dPo Kol WAS' &F) 8 B oen,

@S0 en [éu‘éa'm} . r—
D 505 38 48 S0 Sodyy BodSB®, S
) 8 5§ B2 oA eTod Do HForr FEEHEErED.

56. A decorative toy is made up of a solid cube with an inverted hemisphere surmounted totally

on its top. The edge of the base cube is 5 cm and the circular base of the hemisphere fixed
on the top has a diameter of 4.2 cm. If the entire surface of the toy is to be painted at the

rate of Rs. 2 per cm?, the approximate cost of painting is Rs.
28 K583 DBV DN el wgh*¥Sndo Sogo 900D w8 VLOESR TS SHFHVITLR.
2055 BEdsn BuE), Yo FEY 5 Vo.0. O GIFEDN D), Frarghdn
4.2 20.2. T8 g, Ingo GHOS IS, ¥ 0.0, § &>, 2 TO3E, Yot
Fosnbd weby dudo a8y (ErFrobed’) Wik

(1) 328 ¢2) 340 (3) 348 (4) 364

57 A corn cob which is in the shape of'a cone has the radius of its broadest end as 2.1 ¢m an

is of length 20 cm. If each square cm. of the surface of the cob carries on an average fou
grains, then the number of grains on the entire corn cob is approximately

2§ $okod LEES0S® &F) B0HEY) Fdy BNY), Idw)oNI FF Fgrgan 2.1 0.8
%8050 o' 28y 20 20.00. 8 £ T DoY), DO DD ©S 3. 00.00.8
Teoif hoze FTBYS &od, v HD Ho 330?,0 fHome Jomyg oo™
(1) 562 () 531 (3) 525 @ 512
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| 38, The perimeters of the bases of a cylinder, a cone and a hemisphere are each equal to

22 em. The cone and the hemisphere are attached to the circular ends of the cylinder on its
top and bottom respectively. If the height of the cylinder is 6.5 cm and the total height of
the structure is 12.8 cm, then the volume (V) of the entire structure (in cm?) is approximately.

28 ApHIn, 2§ Foff HBosw of vfiYo @Y ST DHigFodesr 2EYHS
22 oD Sirso. Yok S8on wifrod HnFdf addde &F) 5HETIeH
parfo 00 §olerios” SHIT v, Sirdin 0§, & 6.5 Wo.b.
.ﬁJEICiﬂJJ. & Jomo Iwdgo I 12.8 Do.do. wond, & Jmodo AopeSn. BN, 2089
BBdrean (V) (P08 Do.d.od) ST oNoIm
(1) 324 (y 348
(3) 366 (4) 376

59, [Ifacopperrod of diameter | cm and length 8 cm is drawn into a wire of length 18 meters
of uniform t‘hi-jcl:c'nless, then the thickness of that wire (in cms) 1s
| %0.ab. mgﬁrﬁ:ﬁ 8 ®o.0. FEY Ho el ooa §41, JE68 Sodsn EOAS 18 Dbk
FEH fo HAT 5r8\8, © 85 DY, Hodsn (Ro.d.os)

1 1 l 1
M 35 | 2) 7 () 15 4

60. A solid metal sphere of radius 6 cm is melted and a hollow cylinder of uniform thickness

is formed from it. If the external radius of the base of the cylinder is 4 cm and if its height
is 72 cms, the uniform thickness of the cylinder (in cm) is

6 0.0, TEFEs0 A wl A S5 AFS05 €8A0D, TPAH0d NEBE Hoolhn EOAS
F'en ma;&n:&a ﬁ:‘*ﬁo&o:ﬁ*d& & Srddn g, erdrg grargrgEn 4 0.0, Sobosw
oo J]é.‘éo 72 00.80. YoNd, & ca?a:a;'m G0, DE6B Hoddn (No.an.eesf)

(1) 0.536 (» 0.568
(3) 0.582 (4) 0.624

61. An article is sold at 25% profit. If its cost price and selling price are increased by Rs. 20
and Rs. 4 respectively, then the profit decreases by 10%. The cost price (in Rs.) of that

article 1s
a8 Do 25% PS50 wdyTh. T FHRe Hdoin wi §Q}Eua:&3 S&de

b, 20 So0csad & 4 oD, ergfin 10% SHe0d. ¢ 5H FEPe (Eriod?)
(I, 640 (2) 600
(3) 625% . * (@) 590

www.sa!ﬁh_iﬁducation.com
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62. KapilBought 120 kgs of Tamarind at Rs. 100 per kg. Ie paid Rs. 480 towards transport,

Rs. 60 towards other charges, and Rs. 0.50 per kg. towards taxes. To gain 25% profit, he
has to sell the product per kg. at Rs.

$0S 120 85 DodHodod 8&° 28,088 &r. 100 TS Foyych. vdd o 480 %
TR SarerSomdd, 6r. 60 S 288 pdyefmrdy $o6080 8. w8 otss dru 0.50 TEHYS
oS0 agaam. wdd 25% ergisn &od:ﬁ@éé‘l o' 8e5° aaﬁzrf::é?:é‘. @mgjﬁﬂbé
&8 (Crdrosrees?) ,

(1) 13575 (2} 132.50 (H 131.25 (4) 128.60

63.

gekha bought an item for Rs. 4000 and sold it for a gain of 35%. She purchased another
item with this obtained amount and sold it at a loss of 20%. In this overall deal, she gets

(1) 10% gain (2) 15% loss -

(3) 10% loss ' (4) 8% gain o

B 28 S9% &, 4,000 £, @IV 35% orassns vt w SHS FIs IGE
SNHSH TR, TV 20% SHI0SEH ey, & Ingo wadd Jody D Fodd.

(1) 10% eressn 2) 15% S0
(3) 10% S50 (4, 8% erefsn

64.

A father shared an amount of Rs. 33,201 to his two sons and their shares are invested at a
compound interest of 4% per annum. If the amount received by the elder son at the end of
2 years is the same as the amount received by the younger son at the end of 5 years, then
the share (in rupees) of the younger son is (Take (1 .04)3 as approximately equal to 1.125)
2§ Soid &r. 33,201 v &5 agd LirdHuis Dod, T T 205 4% xﬁ@é%ﬁ
_bé%a:&_::éga‘d). 'bgﬁa’wdbéa 2 Joshsne dhad Fod Indo, AISESE et et
5 Sosg)dhsne Soard o BgSnsH J8rI50 vond, DHKIEEO GiSD

(GrSronod®) ((1.04)} @nE, saponod) deodd 1.125 m &XuE0d)
(1) 14826 2) 15624

(3) 17426 (4) 16382

65.

BYoSSLBS Indsw (ErIreHed)

A person borrowed Rs. 3,000 at 8% per annum simple interest. At the end of first and
second years he repaid Rs. 1,200 and Rs. 1,300 nespectivciy to reduce his debt. The amount
he has to pay to clear off the debt at the end of third year (in Rs.) is

2§ $5g§ & 3,000 o So58y0°08 8% ESG D TIPS YT BREIL. bk 83

sy SnoSFbEs Bnde HBakn Tobd Sosgsive IS S & 1,200
Sopotn &r. 1,300 oo BRoBE. ey FET SEn0ss Surds Sosgoroging v

2) 960.75
(1) 936.50 ( >
(3) 975.46 (4 98635
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66.  What sum will amount to Rs. 520 in 6 years at a rate of simple interest, if a sum of

Rs. 1.706.36 will amount to Rs. 3,.412.72 in 20 years at the same rate of simple interest?
dr. 1,706.36 3 w8 9SS erSHBG o TP 20 $038)5500 TerdE wolg Iogsd
8. 341272 0008, ¢8 eI TS 6 HoSEsne serds &, 520 © FnEs0H

5':{!.'] ﬁt‘sﬁ:% dod
(1) Rs.380 (2) Rs. 400
(3) Rs. 425 (¥ Rs. 360

67.

T:herg was one silver coin for every (hree copper coins with a numismatist. If 10 more
silver coins are added to his collection, then the ratio of silver coins to the copper coins
became 1:2. The total number of coins present in his collection now is :

o TRSnoi WEdod Hg8 5§ ©8 Nrd oh TRIVOH, tE Jod TBIW TIPS
603D, DG 10 Jod THRIWOH LS DLETRH =6TVIYR w8 5§ Ko 308
S00Akn ovh RSV D&y o A8 1:2 wowsa. BGiyde s 5§ fo Indo TTBSVL

Sopg.
(1) 60 (2) 80
(::1" 90 (4) 100

68.

The sum of, a two-digit number and the number obtained by reversing its digits, is 66. If the
digits of the given two digit number differ by 2. then the difference between the two possible

such two digits numbers is
o8 Bodose dopgs, TISY vosON S RhIrd Dobm Uy Jopgd Fwodm STy
dngo 66. & aYS Codose Sopgd'd wose SoFgRdsn 2 wond, wirodd Sod
Dedlhy Bodosy dopge N, Bo.
(1) 15
(3) 18

(23 16
4) 22

69.

A boat goes 30 km up stream and 44 km down stream in 10 hours. In 13 hours, it can go
40 km up stream and 55 km down stream. Then the speed of the boat in still water and that

of the stream (in km/hr) are respectively
10 Koo uE B85 HTH8 55808 H¥e’ 30 8.2, Hbok» PITRIS” 44 §.20.20

3505&}{53. wd 13 dobeod® PITFTR8 556315&3'!'5‘ 40 §..0H bl Parhist
55 &..e0 Bdar{ﬂcia, wond dofdm &) D55 HESIES0 Dok Pardranhsn

S&am (B.D/K0.08%)
(¥, 5,2
(3) 5,3

(2) 6,2
4) 8§,3

www.sakshieggication.com



70. The present cost of a machine is Rs. 10,000, If it depreciates at a rate of 10% every Year,
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it will be valued at Rs. 6,561 after
(1) 3 years (2) 3% years (3) 4 years (4) 5 vyears

&5 odogsn Rog), @RS Jeod &r. 10,000. @@ SoddHdo A eSS Ehde |
TS0 10% wonsds, ord Jend & 6,561 m s5E 8 53 SScho

1
(1) 3 Sos8)S0en (2) 3 RoSdEsne
(3) 4 BoS&usnm (4) 5 HoSdyEsnes i
71. If the 2%, the 31% and the #™ term of an Arithmetic Progression are respectively
31 1 Pa -
?i, 5 and ﬁGE, then the sum of the first » terms of this progression is
2.8 wolEfSoch 25, 315 S0csn 7S Soren SKHHM ?%,% S08050 —6% @ond,
s WoiE&5080 Indd n dore Indo
(1) 44l 2) 481 @) 514 @ 522
4 2 3 4
2
T3 N
7 2 L6 3 2l
?2.58—43-*?01‘ §+50f£_ﬂ_
3 2 7 21 5
’ ! ®) @ 1
M T @ 1o 10
73 If four cards are drawn at random in succession from a pack of 52 playing cards without
replacement, then the probability that they are all ace cards is
2,8 D&y DEfLeS*He 52 f:réaﬁmﬁzrm S0 2800 Soqd 2.8, 8RS 2 S0 & Sde
$gges® g6 Bohkor, Tauh DE o Srdyinsor a0, ©) TeIr BRI
e5ERs o Dowrdgd
| 1
4
(1) J54145 ) S7072s ) 15925 (4) 260625
e D
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74. If two numbers are chosen at random from {1, 2, 3, 4, 5, 6} at a time, then the probability

that the smaller of the two is less than 4, is
{1,2,3,4,5,6} 008 cSr&yRySom Soh @osed) a8 JoDEH R, @ doh Bopgwd R

523 dopg, 4 ey Q%8 3N fe Kme;*égé:

% 3 @ < 3) — g 2
75. Two dice are thrown at a time. The probability that the sum of the numbers on their faces is
a prime number is
Boh >N 328 &80T . T8 SogroR do Jopgo 3o, a8 BTN Doy
SR@E Mo Joeragd :
- %) < 3 - B =
¥ 1 @ 1 G) 3 ® 3
76. Where the island museum is located in Andhra Pradesh?
(1) Vijayawada (2) Salihundam
(3) Kolleru (4) Nagarjuna Konda
o HBT0k uf Sddnd* B pTRg SRPEGHIT IF)b Fo?
(1) dzcHrd (2) #Odvado
(3) §8& (4): >mEI8 s
77.  The first split in the National Congress occurred in 1907 at the following given session
(1) Surat session (2) Nagapursession
(3) Bombay session (4) Calcutta session
80D Frong” BnsE DOE 1907 &° (fod 2EF) dSrEdos” Ad)dod
(I &rds SHORER (2) s HBHrIdS0
(3) Soeron RIFIESN (4) Soig Sdradsn
78. In Andhra, the first widow re-marriage was done by the understated.

(2) K. Veeresalingam

(1) GiduguRamamurty -
(4) S.MuddaNarasimham

(3) Gurajada Apparao
es0es* BdBEE Jdody T axrfod Fth =020
(2) . J0¥doio

(1) Ao o788
(4) oDS. Sng $6200

(3) Hderd oITH)
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79. *“The Khudai Khidmatgars” were also known as
(1) Black shirts (2) Yellow shirts
(3) Red shirts (4) Green shirts
"8 DESTE” & Do Sra BRE e
(1) Sg Tspen (2) D0 TEYe
(3) QY Tsyew (4) esHon Ssmw
80. Roman coins are found at various sites of Andhra that belong to the period of the following:
(1) Chalukya (2) Satavahana
(3) Kakatiya (4) Vijayanagara
808 &Y S0EI5T68 BodS Swod® wogS* D Foik FoTrod' G FBen §050w.
(1) =g 2) wET>S
(3) sE80% (4) DoAY
81. The following award was not presented to Abdul Kalam.
(1) Padma Sni (2) PadmaBhushan
(3) Padma Vibhushan : (4) Bharata Ratna
§08 YOI oS’ wnd Fordd aduEdodd
(1) 248 (2) DEEAs
(3) DERorlaes (4) erd88e
82. The Administrative consequence of the Revolt of 1857 was the transfer of power from

one to another as stated
(1) East India company to the British crown

(2) The British crown to East India company
(3) EastIndia company to the Governor General

(4) British crown to the Board of Directors
1857 & foerin SEgdFrSom BoFros Sbom efsd Sriyd w8d Sod 2808 oner

S7008.

(1) &foBesr ond 06 HHERTHE
(2) QB2 B Hod &Y AT g0 w8
(3) &Rodair o o (585 3858
(4) OB SHob 5§ B BEFES
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Nannaya has written ‘Mahabharatam’ into Telugu at the following place

(1) Amaravathi (2) Nellote

(3) Rajamahendravaram (4) Peda Vegi

RS '253?’.3‘@“66‘@51* B corfod Fdyad (Fodos' (.
(1) edlosa (2) Jeork

(3)r orzdoirosso (4) =s83A

84. The Revolutionary that died in the Jail due to his hunger strike
(1) Bhagat Singh | (2) Jatin Das
(3) SuryaSen (4) Chandra Sekhar Azad
Zend® &3 JoTERE s 8morr $o0s3008 DHSsTehd
(1) <58 ek (2). =85 o5
(3) [rdgos (4) Doips werd

“Kondakarla ava” is located in the following District

(1) Srikakulam (2) Nellore (3) Visakhapatnam (4) Krishna
“FodEd 3" & (fod St ok
(1) &5 %¢o (2) Surd (3) d7Twiywo (fp, AT

Belum caves are situated in which District

(1) Chittoor (2) Kadapa (3) Srikakulam (4) Kumool,
Deno HFred &) Ber 287
(1) DSn6 (2) E&3% (3) §ssowo 4) $dme0

Lord Lytton was not associated with the under stated

(1) ArmsAct (2) Ilbert bill
(3) Vernacular press act (4) Stratchey commission
g LS Bod BYwES TS Howodo 59S .

(1) sointro S (2). wen§ O

(3) I8 J8s Bho (4) O IS

Gandhi'’s first satyagraha in India began in Champaran (1917), that situated in the following

State,

(1) Bengal (2) Bihar

(3) Uttar Pradesh (4) Punjab

USG5 E05® Mo &S Bl ﬁgﬁglﬁ#t‘;}ﬂl Eﬁ;')ééé Fo>ssS (1917) 2 U"%Drﬁ“ Eert.

(1) Bors (2y &6 (3) &488Bas (4) Howd
www.saksme_(ﬂjcation.com




89. Who among the following was not a founder of “Tt

!
i
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i ! S
1e Women'’s Indian Association™

(2) AnnicBesant /

(1) Margret Cousins
(4) JecnaRajaDasa ]

(3) Durgabai Deshmukh
< Bod T8 ‘Q &) 208605 @@3&@355’ ﬁgﬁééﬁ Bomoto BATE
(1) 359¢ g8 (2) ©dTWOE /

(3) Soorerd®D BT 4) éo ow TH

In the following who was not the son-in-law of Rudhrama Devi

90.
(1) EllenaDeva (2) Annayamathya
(3) Mahadeva (4) Prasaditya Nayaka
& 1808 T0S° HHBHAD vl ST OIE
(1) g a3 (2] ©d)oim Srég
(3) SIS (4) @rady Fons
91. At which session of the Indian National Congress ‘Vande Mataram’ was sung for the firs
time :
(1) 1896 Calcutta session (2) 1908 Madras session
(3) 1895 Poona session (4) 1899 Lucknow session
‘%o BSrES0 BosBFE D rEs rdoh Tofe ¥5rBFost rdlo =biod
(1, 1896 sosa Hhrado (2) 1908 Sogrde HSrRHo
(3) 1895 ree HS3rSd0 (4) 1899 o8) HS3rRdo
92. Which of the following templeis very popular for paintings?
(1) Draksharamam (2) Lepakshi
(3) Simhachalam | (4) Ontimetta
BoB sodsrd: DESER @R BodBE B?
(1) wrgroseo (2) 82é (3) Rodfewo (4) 208308
93. Who among the following resigned to the membership of the *Viceroy’s Executive Council
re

L B e
www.sakshiggugation.com

ainst Jallianwala Bagh Massac

as a protestag ' v
(1) Shankaran Nair (2) Dadabhai Naorojt
(3) Motilal Nehru (4) Subhas ChandraBose

Sody DEHIM JFraD 2nErgES TYPY

B0 FIS° 58 2000 Jrerrerh S8R

Hesg eSS ordadr BTEd |
(21 Todd J62

(1) #086S oo
(3) BrbeS T (4) Hozrd SoBS®
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94, One among the following has notserved as a Governor of Andhra Pradesh

(1) RamLal (2) Sarad Yadav
(3) Kumud Ben Joshi (4) K.C.Abraham
8o TS ISH woPRHRT A3 BB B S
(1) o od (2) %55 oSr&S
(3) Hs»n& B8 &2 (4) 3R.0pdo
95. Gandhiji became the President of Indian National Congress in which session
(1) 1923 Kakinada session (2) 1925 Kanpur session
(3) 1924 Belgaum session (4) 1926 Gauhati session
88 S Soid D H3rdfost mofd @::55_53(‘450335;‘\’:3
(1) 1923 s§are SSrddo (2) 1925 simyf ddrddo
() 1924 BerSo B0 (4) 1926 T&r8 30590
96. The Simla Conference was held under the Viceroyalty of
(1) LordLinlithgow (2) Lord Wevell
(3) Lord Elenborough (4)  Lord Northbrook
Dy Jirddo d JFed so0s* Arowudod
(1) orf O39SH (2) o§ 338
(3) o8 QB0 (4) of§ Gk
97. Jyothi Rao Pule constructed the famous organisation ,
(1) SatyaSochak Samaj (2) Satya Parivartan SELT.‘ﬂ.El]
(3) SatyaKartavya Samaj (4) SatyaRakshna Samiti
Sso05 B IOFYS Wby S0P
@) ©8gTEE Sdrao (2) RSgH0SES dr=o
(3) Rdgsgsy ddrwo (4) ®&g68e DD
98. Telugu Literaturc was highly encouraged by whom?

(2) C.P.Brown

(1) Percy Brown
(4) Robert Brown

(3) David Brown

ool Firergd) VSgRso Frods 267

(1) b &S (2) oo @S

(3) @a2d& (@e

e
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99. In 1918 ‘India In Transition’ was written by
(1) AgaKhan (2) M.N.Roy
(3) B.GTilak (4) LalaLajapati Roy
1918 &° 2H80DS ‘Rodolr ¥- WA Wodsd
(1) oS (2) 5.8, T
(3) d.z.8o§ (4) oo omd8Tdd
100.. The rate of evaporation of water is inversely proportional to
(1) Areaofthesurface (2) Humdity
(3) Temperature (4) Wind speed
U8 eryHd Btn B IS Wrdordos® Gotnod
(1) &3680 ITogdn (2 g8
(3) e 4 o S8

101.

The intensity of scattered light is maximum for the angle of scattering given below
QNS D H08H0 F'ed8 HBEI 5708 §PBE [0J0
(1Y 0° (2) 45° (3) +90° (4) 60°

102,

Acceleration due to gravity is independent of
(1) Mass of objects

(2) Mass of the planect
(3) Height from the surface of the planet

(4) Radius of the planet

Kotody Sgbrdn BAD GBEEHES
(1) SHdo G550

(3} 5 GHbgoo ol 28 (4) @5 argrdsn

(2) GBS0 @Y, B850

103.

If a motor of power 10 HP runs for 100 hours then the number of units of electrical energy

consumed 18
10 HP avmggmﬁa: Srérds 100 Kobowo 8BASLICNS b DAFTHoWRD) Jogsd

olurddde Dowy

(1) 100 (2) 1000 (3 74.6 (4) 746
104. The audible range of sound waves for human beings in kHz is

SrdPen ISEAS ¥y ddomro @HE kHz o&°

(1) 0.01-10 (25 0.01-20

(3) 0.02-20 (4) 0.02 -200

www.sakshigglygation.com
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105. The *“Manganin’ used in standard electrical resistances contains

(1) Copper, Manganese, Nickel (2) Iron, Magnesium, Nickel

(3) Copper, Magnesium, Iron (4) Tron, Manganese, Copper

(FS57BE DgE ATenm T3 SrofdSS' &odd

(1) o8, STofdS, 936 (2) aBn, Bificho, TS

(3@ o>, ohjhacio, o0 (4) =:dd0, SrokdD, ooh
106. If external force acting on a body is zero then its linear momentum

(1) Zero (2) Decreases

(3) Increases (4) remains constant

28 S0P AV aridrguoo B0 wond ol Bhad @hgartn

(1) HSgs0 (2) ddpdood
(3) adrheod (4) DBIM Gotod
107. Identify the method involved in separation of components of liquid air from the following:
(1) Distillation (2) Steam distillation
(3) Sublimation (4) Fractional distillation
B3O’y obrod IHVCHEAS FNGriod ol §obadld’ Hjowhhn
(1) “gsdo (2) A e s
(3) a&sdo (4) o8 iSo

108. Identify the pair of compounds which obey the law of multiple proportions,
2T dd JoHErQ) THoB JSHTo 2oL MHfodw.
(1) CuO,Cu,0 (2) H,0,H,Se
(3) CuS,Cu0 ) NaCl, NaBr
109. Identify the pair of ores which can not be subjected to roasting {rom the following:

(1) Zinc blende, Copper iron pyrites (2) Galena, Cinnabar
(4) Zinc blende, Cinnabar

(3) Magnesite, Pyrolusite
Bob O 28 mréHoss HE5 BEHS GBI HBoHD»

(1) =of Bob, 5755 »ES FOBH (2) AdT, v

(3) Srifype5, 2Seogpss (4)- =of Fob, bdprd
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110. The only chemist ever to receive two unshared Nobel Prizes - one for chemistry and another

for peace is
(1) Alfred Einstein (2) Erwin Schrodinger

(3) LinusPauling (4) Neils Bohr
0 DS ITeIED d&cﬁ:tﬁ%"@oﬂﬁ" %3805 708 Jermed I5EBE aofﬁ:ﬁ“é&oﬁ“ aﬁbﬁ

G0ty wothES) dFrahd TRI
(1) E@JS SRR
(3) BIR FOoh

111. The pair of stable covalent molecules in which the central atom is not obeying the octet

f

(2) 2855 @&orE
hy H&) 56

rule is

(1) Methane, Carbon tetrachloride
(3) Ammonia, Water

BolBE D850 wRE Qodrd) rEowEdrons)is %d@_é&)n’ =) BSod@Are o

(2) Beryllium halide, Boron halide
(4) Carbon dioxide, Acetylene

e 2ody

(1) rEbESﬁ, e Brsok
(3) ©arRosr, AH
Which pair of groups represent the most reactive metals, most reactive non-metals

respectively in the modem periodic table of the elements?
Sorose el e3dS K8 odghs Eoirlvdio STHw, wdgdE Eolredihe

(2) BbOchHo FBE, o5 T8
(4) 5°6)5-3-uB)E, MBOS

112.

weStTien Ao ) =ob IO?
(1) 1,16 2182, 17 3 L 17 4) 3,16

The colours of the solutions, when methyl orange indicator is added to acid and base

113.
respectively, are
(1) Red,Yellow

(3) Blue, Red
DB wor JrdER LHEH08, 58 (rdeosy SODIYE d8YE Sohen SEHm

(2) eSsE, 5D
(4) D308, IHDH

(2) Green,Red
(4) Yellow, Red

(1) 5D, oD
(¥ deo, 28D
Hydrolysis of X gives acetylene and hydrolysis of ¥ gives methane. X and Y are respectively
BoThm $65S°T X IvBOSSH, Y HBSH aig™. X, Y o Sddm

(¥) AlC;,CaCy  (2) CaCsy,AlGs (3) AlC;Be,C  (4) BeC ALGC

www.saksl%i‘éﬁlacation.com
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115. Match the following :

List -1 List-1I
A) Transport of water from root to shoot I) Translocation
B) Loss of water from stomata II) Osmosis
C) Bulk flow of substances IIl) Ascent of sap
D) Diffusion of water across semi permeable membrane IV) Transpiration
2SBS0

TR -1 erde -1
A) 3D Dod 5omR8 Y (©IC ) &>odde
B) 3Jgdore oo A8 FIhIb I @Gadsde
C) Soge I&rd @adro I Bs°'gsoe
D) ©g FérsgsgEo ago M agdSo IV) erandso

Choose the correct answer

DOSHS JIrFTR) RS VALY
A) (B) © @)

(1):- IV [ I I

@@ m ¥ 1 I

3) I I I\% I

(4) I I 1A% I

116.

Special group of chlorophyll molecules undergo photo-oxidation in photosynthesis can

be designated as
86y HoBFHES" £708 ehitnt SrEdd BBE 208 SfETge SINTary

& Domr SRl
(1) PSI(Pygo), PSII (Pggo) (2 PSI(Pq0), PSII (Pgy0)
(3) PSI(Pggg), PSII (Pgg0) (4)  PSI(Pyop), PSIL(P750)

117.

Enzymes involved in both photosynthesis and respiration are
I)  Aldolase ) Triose phosphate isomerase

[IT) Hexokinase IV) Malic dehydrogenase
Egmazisg HodlrHBoR HBoin TEIED 308035 Sy FTR JoBE=0en

) wgos ) @aErs IS o0E
o) =rs'33s IV) 585 38’238
(1) LILIV (» I,ILIV (3) LILIV (4) LILII

www.sakgtﬁégucation.com
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118. Choose the correct pairs from the following related t0 F, generation.

. V)

- 3:1

- 9:3:3:1
- 1:1

30 e

I))  Monohybrid cross
) Dihybrid cross
II) Test cross

Incomplete dominance

F, %0888 Somodod ¥3s adui Bod d0d BESESE
D) -3:1

iy - 9:3:3:1
iy - 1:1
IV) wdodrg obrdsdas» - 1:2:1
(1) LILIV (2) ILILIV

¥ DoEd Bofdesn
Eﬁéoéd wol8ndw

H68 Ho¥beodSw

(3) LUOLIV

Buoklct?é::lc :'

y,

(4) LILII

119.

Observe the lists and choose the correct combinations.

~ List-1 List - 2

A) Monera Unicellular with no membrane bound nucleus  a)
B) Protista Uni or multicellular with true nucleus b)
C) Fungi c)
D) Plantae V) d)
Bod DEe KHdod HBGHI DE¥dodHos Hdodobd.

D
iy
[I) Unicellularwith true nucleus
Multicellular with true nucleus

e - 2

$05082 SoBEoro A fe B

o - 1

A) 3o

B) &8 ooy 2F B wdv Sofd

C)
D) $ysorage
(1 A,Lb
(2) ALDb
(3) ALa
(4) AILb

30oT e Jesfodorie K Seodd

Qefodbore wio Endd
C,II,d D, IV,c
C,IILd D,IV,c
CJIl,c D,IV.d
C,Iv,d D,Ilc

B, a
B,II,a
B,IIb
B,l,a

List-3
Amoeba
Bacteria
Fern
Mushroom

e -3
Waer
2005
4

i dod

26-B
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Assertion (A) : Mitotic cell division takes place in body cells, while meiotic cell division
takes place in sex cells.

Reason (R):  Chromosome number reduced to half in mitotic cell division and same
number of chromosomes is retained in meiotic cell division.

(1) (A)and (R) are true; (R) is correct explanation to (A).

(2) (A)and (R) are true; (R) is not correct explanation to (A).

(3) (A)istrue and (R) is wrong.

(4) (A)iswrong and (R) is true.

Afso (A): DRV 6 $08 Erros’ athkieob, wand Foiisn Jeind 5SS
Erwest athihdéed,

256m (R):  H%00dsas EardSe sopg M8 SRosndis: Dbun ohEde
DFasSt Fardoe ;‘mspg ?gﬁom &otnod

(1) (A) H08cin (R)Bods $6G08D; (R) 036 (A) & S80S J50e0.

(2) (A)So8oin (R)Bodr 26g0sd; (R) @da (A) % POEIR DSde 5.

(3, (A)DBR0SH HoBosw (R) 20FIE s,

(4) (A) %9808 s H08aid (R) SO0

121,

Ratio of tall and dwarf garden pea plants formed when a tall (homozygous) garden pea
plant is crossed with a dwarf garden pea plant.

0.8 P {ﬁsﬁ.‘)oﬁmﬁ&a&o} 2ol 30§50 Y 2o 30E S J08Ewo WSk :'.‘16353

S8 50030 P aocd GO NG
(1) 3:1 2y 1:2:1 (3) 1:2:1 & 3:1 (4) 1:0

122.

One of the following is not an enzyme. Identify it
(1) Trypsin (2) Gaslrin (3) Pepsin (4) Steapsin

Bob TBS* wil Jogsn . T KBowok
(1) G (2) m&s (3) 2y (4) RSy

123

Cold blooded animal with four chambered heart is

(1) Polar bear (2) Whale

(3) Penguin (4) Crocodile
Feniy Koo f0d 03 28w 6§ 2oddi hBosod.
(1, &)59 Jeotwedd (2) &doifeo
(3) ohgs (4) Bedd

17-B
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124. Match the following :

No. of chambers in heart

Animal
A)  Shark )  Thirteen
B) Frog ) Four
C) Cockroach II) Two
D) Whale IV) Three
| V) Five
Bod 8 =s8d8Tod:
2o 085D e Nowmg
A) >odD ) S&Bordd
B) &3 M) greor
C) &°Bos M) Bodo
D) &advofeo IV) oot
V) ad
Choose the correct answer
BEGHI HIrETTR) S s0
A B © @D
() m v | \Y%
2 M v 1 I
(3) I [ v
(4 v I I Il B
125. Erythropoietin - niecessary for the production of red blood cells is secreted by
(1) Kidney (2) Liver (3) Spleen (4) Bonemarrow
ABEEEeTe HE1E8 ©IVEPS BE FCNBID EIoWH
(1) SrEgHodo (2) s"Bo%o (3) 2% (4} d3nE Hog
126. The slogan “Think globally and act locally” was given in
(1) Earth summit (2) Kyoto protocol
(3) Montreal protocol (4) Chipko movement
“F RS0 sSthotod - Fom Hodowed” ©F Heod) Vs
(1) &8 Ja8y (2) Sgest @ests S
(3) SrochS s S (40 29 edgsoo

www.sakshie%ﬁ'c’:g'tion.com
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127. Number of chromosomes in Turner syndrome,

HH0 PoFHNS* God FErIFIVe Nomg

(1) 44 (2) 45
| (3) 46 (4y 47
F 128 [dentify the mismatched pair.
} (1) Snowblindness - Infrarcdrays

(2) Green house effect - Methane

(3) Ozonedepletion - Chlorofluoro carbons

(4) Biomagnification - Benzene hexachloride

Bod o8BS JBsR 28 HBowod
(1) =% Bo&3IS - Hordom 88earen
(2) &8 Ky Eherdo TS
(3) &s'S §eods - EEYE sgRen
(4 =5 3386 BodS )80

129. State bird of Andhra Pradesh.

(1) Bluejay (2) Roseringed parakeet
(3) Peacock (4) Bustard

| @oFHET TR S

: (1) ool ; (23 oeddens

| (3) IO (4) wiyds 3§

| 130. ‘Ramachandra Panduranga’ is the other name of the following revolutionary
(1) Jagannatha Payak Rao (2) TantiyaTope

: (3) Atmaram Panduranga (4) SukhaDev
& |Bobd DDNs 505658 ‘Tdedold Frodadol.
(1) =zdanE rahios (2) eodcsr &
(3) wemors aroddol (4) opda

www.sakshig@umtion.com
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131. In the state of Andhra Pradesh Upasarpanch of a Gram Panchayat is elected by the
(1) Voters of the Gram Panchayat
(2) Sarpanchofthe Gram Panchayat
(3) Sarpanch and ward members of the Gram Panchayat
(4)  Ward members of the Gram Panchayat

BOWHRT TP i wf rhdoTand SB00SH Bod TE Yotrdd
(1) & Somond &ud '

(2) & Somrena REyo

(3) (l{“’fﬁl‘ WO REYow Boboin Fdy dbgwo

(4) (B dowrond gy Hebgen

[32. The tenure of a judge of the International Court of Justice is

(1) 9 years (2) 6 years
(3) 5 years (4) 3 years
&Bcéﬂgé‘mia a“go&:@;:ﬁﬁn@" wl T°godadord DEISL0
(1) 9 JoS&oew (2y 6 Dode&oren
(3) 5 Jod&oww (4) 3 Dod&yoren
133. English is the official language of the following state in India
(1) Goa (2) Nagaland
(3) Uttarakhand (4) Assam
T OSRT5NS Bod TPINS’ wolf > vsY wrhmr S0k
(1) A= (%) amerodd
(3) wdgopol (4) wo
134. In 1969 the Chief Justice of Supreme Court of India officiated as the President of India
[dentify the person.
(1) Justice S.M.Sikri (2) Justice K.Subba Rao
(3) Justice M.Hidayatullah (4) Justice PN. Bhagawati

1969¢5* 256 a’u@c?o’g DS argcsrdorgm & B)T> 55 D erS G‘gfﬁ@ﬁ
Sgrbomdd. B Kook

(1) 230 IR0, A8 (2) =[% 3. 020
(3% 2R IR, TEohéer (4) 290 2.3, HKIS

www.sakshieﬁy_cgtion.com
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{ 135. In the following case, Supreme Court of India gave a judgement that the Parliament has no
power to amend the basic features of the Indian Constitution

(1) Golaknath Case 1967 (2) Kesavananda Bharathi Case 1973

(3) A.K.Gopalan Case 1950 (4) Champakam Dorairajan Case 1951

e 88 TPargofiBng® ST oo 35808 whs o SgIootnso SED 8 Ro@os'E
& 180d TS AL 0s

(1) Aolzd g2, 1967 (2) BEodos or6d Edo, 1973

(3) 23 FZreos 8, 1950 (4) . SonES SooaS B, 1951
136. Directive Principles of State Policy are borrowed from the constitution of

(1) America (2) Bntain (3) France (4) Ireland

B drErod 18ob Targoriin $0d iroddDSs

(1) o3ds (2) Bos (3) @ray (4) oTob
137. The house which is presided over by a non-member of the house

(1) Lok Sabha (2) RajyaSabha

(3) Legislative Council - (4) Legislative Assembly

RSt Dgogdy 50 958 RerSgidm &8 o

(1) 'S &¢8 _ (2) oy 9

(3) DS H/AS (4) 2dgd O

138. After bifurcation, the total strength of Andhra Pradesh State Legislative Council

F of dFad $HITE wo @B oog T 2026 Jwgo VEhgw vowg

(1) 40 2) 45

! (3) 50 (4 54

Who is the first person scientifically estimated the National Income of India after

independence?

(1) Dada Bhai Naoroji (2) V.K.R.V.Rao

(3)  William Digby (4) R.C.Desai

Fedo@gSoddsn T RndRrdm FReh HGAS* 2 HoSrEradBNG woilT BST6

D627
(1} worared F&'2 (2Y 2.38. 6. 2. Y
(3) DochR an) ' (4) esb6.%. 7ol

www.saksﬁiéaﬁcation.com
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140. Which of the following falls under service sector?
(1) Handicrafis (2) Sugarindustry (3) Poultry (4) Hotels

08 8S® Hhardomrnd DodSE D&Y
(1) Basysyen (2) S50 H0EFH  (3)

141. Who is the father of India’s Green Revolution?

(1) M.S. SwamyNadhan (2) V.K.R.V.Rao
(3) S.Gande (4) P.V.Narasimha Rao

TESTE 08 PS5 hevSoTods JSE?
(1) 0. 8. FgWTES
(3) 28. rod (4)

142. Which of the following program was designed in the year 2000 by the Central Governmey
to provide connectivity of roads and transport to all villages?

Bobd RS 2000 5 HoSS) S50 TogRebdso &', T TETged ©J) (el
EOyowBrd PITDES HEo 8?2

(1) PURA 2) SGSY (3} PMGSY (4) SSA

In which year the program Mahatma Gandhi National Rural Employment Guarantee Schem

(MGNREGS) was launched in India?
2 Dodg)Bos* ;’n;‘i*éé'moé 2D ([P &3O T Ko rEERFoS” PITRHASE

£ spF (4 FoG

(2) 2.38. 6. 2. o)
. D). 5850t o)

143.

(1) 2001 (2) 2005 (3) 2007 (4) 2014
144. “Sri Bagh Pact” was signed by the Andhra Leaders at the place under stated
' (1) Vijayawada (2) Madras
(3) Kurnool (4) Tirupati
o8 BHY8S HdFeds’ wo@Trahioen erh wdonds’ Sodsen Brdd
(1) dachad (2) Sowrdo (3) g&en (4) 8658
145, The Book “Castes in India-their Mechanism Genisis and Development” was written by
(1) MN.Roy (2) VD.Savarkar )
(3) MK Gandhi (4) B.R.Ambedkar
“s@ﬂ 0 R8s - BE 1S, BIVS Volb BIOHR0ls” ©I Kom) TS
(1) I90.25. oo (2) 2.8. F>5,6
(3) cH®HI. mobd (4) D6 wodity s

32-B

www.sakshieducation.com



E
+

;E’Sﬁ Booklet Code : B

www.sakshiedaesation.com

146. ‘Mount Batten Plan’ is also known as

(1) June3"plan (2) July 14% plan
(3) August 15" plan (4) September 5% plan
‘STolerbd Rer@E $ddom Srm et
(1) =2 3 Keordd (2) =8 14 D98
(3) efgplS Herds (4) Dgoudd 5 By
147. Which session of Indian National Congress passed resolution on, ‘National Economic
Programme and on Fundamental rights and duties’
(1) Lucknow session, 1936 (2) Lahore session, 1929
(3) Karachi session, 1931 (4) Delhi session, 1932
TGS BcH Tofd BN H drdior’ ‘wdokh bl SOgESISN 500k FEME
ey e, rggde émé:iéaa' sIrBoTr
(1) o) $3370,1936 (2) s dsrado, 1929
(3) gord HSrRdo,1931 (4) B d5-370,1932
148. Gandhara Art is the contribution of the following dynasty
(1) Maurya (2)  Kushana
(3) Sunga (4) Gupta
mod 30)8¢ oo ol S08d) A0S0
(1) 3563 il (2) %ores
(3) Dot (4) o
149. Who was considered by Gandhi as his political guru _ )
(1) Bal Gangadhar Tilak (2) DadaBai E'tlaorn_]l
(3) Maha Deva Govinda Renade (4) GopalaKrishna Gokhale
mod &3 orelol HHIT 50 raoTd
(1) =& Komrgb 808 (2) wmeron F6S8
(3) S5B5 [dod Bsa (4y Foros)m D
150. Vijayanagara kingdom is completly disappeared with this battle By
(1) Battle of Penugonda (2) Battle of Kampili
(3) Battle of Chandhragiri (4) Battle of Topuru
Da0hSns Scege & oSogod B SadoiaBagio
(1) Dol o5ago (2} Eobd osngo
(3) wWoghd csxgo (4) &% osngo
33-B
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151. Which is not affected by the ‘Policy of Doctrine of Lapse’.

(1) Sambalpur- 1849 (2) Udaipur - 1852
(3) Nagapur- 1854 (4) Berhampur - 1850
TrEgdoESm DIod wrbIDEIS Q87

(1) Howsrs - 1849 () &BHErE - 1852
(3) K36 - 1854 (4) wBodré - 1850

152. Swadeshi as a purely economic measure for the development of Indian Cottage Industry
was preached in 1840, by

(1) B.GTilak (2) LalaLazpati Roy
(3) Gopal Rao Deshmukh (4) Aurobindo Ghosh
184065 5538 Sr(@d), 2880 S8 HOFSTHIRS 8 J5HPos efE Srdor S BoANG
(1) 2.2 sof (2) wroronnd oo
(3) A>oord B85S0 (4) w808 A
153. Match the following ) /
a)  Delhi i)  SirColin Campbell
b) Kanpur 11)  Sir Hugh Rose
c) Lucknow ii1) Major General Home Lock
d)  Jhansi iv)  General John Nicholson
22 D EoSoS0
a) &9 _ i) 36 E'OS 5ohdS |
b)  sEmo i) %6 Swgh 88 ,
c) oF i) Foad 28565 T oF
d) &) V) =565 =8 JIESHS
(1) a(i) b(ii) c(iii) d(iv) (2) a(i) b(iii) c(i) d(iv)
(3) a(iii) b(iv) c(i) d(ii) (@) a(iv) b(iii) c(i) d(ii) B
154. The length of a day is longer than the length of an year on this planet.
(1) Mars (2) Venus (3) Jupiter (4) Mercury
& oS wEbier Wdreo w8 Joddhdo Hidrwo ol VRS
(1) Hoerdd (2) Dotk (3) TS (4) e -

155. The time difference between two towns located on the equator is one hour. The variation!
the longitudes of these towns would be
HrSpEson P Ko Bolk HYeTre ¢ oS E g0 2.8 fob, & Simre dgroTe .555;*3;‘51

(1) 15° (2) 30° (3) 45° (4) 60°

www.sakshigdudition.com
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156. This wild life sanctuary is the largest Tiger reserve in India.
(1) Coringa wild life sanctuary
(2) Koundinya wild life sanctuary
(3) Pulicot wild life sanctuary

(4) Nagarjuna Sagar-Sri Sailam wild life sanctuary

& 335 e0w wfcirdgo erSST 505 D &Y Yo BBES Fodo
(1) §Comr Sdgdrs weiairdmgo

(2) Sobdg 358 wFoirdgo

(3) DISE S8g>ed wcirdgo

(4) &S i - gIvo SdgiEred wFcirdmgo

. The hottest place in Andhra Pradesh is

(1) Vijayawada (2) Kadapa (3) Rentachintala (4) Guntur
oSBT 0" Pododd wdgy @odo

(1) Dechad (2) s4 (3, Bot Dode  (4) Kolardd
. The lowest temperature recorded in a day:

(1) Before the sunrise (2). 02:00 AM

(3) 12:00 midnight (4) After the sunset
L85 d” wdgoy aid Byd SIrdYySd

(1) JrEglosrds Swod { (2) w&cHo 02:00 Hobrer¥
(3) ogo® 12:00 Aobowk (4) Rromgddocio Sogd
. Match the following :

List-1 List-11

) Kambalakonda A) East Godavari

) Nelapattu B) Kumool and Prakasam
[II) Coringa C) Visakhapatnam

IV) Gundla Brahmeswaram D) Nellore

808 T3 2dDdthdn

DS - e - I

[) @ Hozrofod A)  &rdy Fodd

M) Sediy B) $dmen $H8050 B0
M) &*6ok C) dTino

V) oot preryigdo D) Bord

Choose the correct answer

$OgE BErEER) IETo

(v IC 1I-D II-A IVB (2) 1-C oA TI-D IVB

3) - 0B IMm-A IVD 4) 1B O-C M-A IVD

www.saksthigd@ication.com
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160. The largest cropped area in India is irrigated by this method

(1) Canals (2) Tanks (3) Wells (4) Others

TESBI0F0680 BHotrgirdy IHFoS D wEIHE Ko SIOTHOS” FhBTBRENE

(1)  senSen (2) B&HHes (3) =He (4) whoee i

161. The Tea Research Institute is established at

(1) Darjeeling (2) Jorhat

(3) Ootacamund (4) Silchar

T E3R3¥0s” Boir& H85GT oo 2%, & %"bmﬁzac?wﬁi

(19 =8doity (2) £'ordS

(3) &d8Sodesn (4) Reomd b

-162. Match the following:

A) Hyderabad [) Sabarmathi

B) Lucknow [I)  Tungabhadra

C) Ahmedabad ) Moosi

D) Kurnool IV) Gomt

Bobd TBD =SHEBBW

wde - | eda -1

A) TETEEd ) %268

C) od%oerdd o) Sord

D) sdmeo IV) A

(1) A-IV B-lII C-1I D-I (2) A-II B-IV C-II D-1

(3) A-Il B-1 C-1V D-III (¥ A-UI B-IV C-I D-II

163. This Prime Minister of India has laid the foundation for “Golden Quadrilateral”.

(1) Jawaharlal Nehru (2) Indira Gandhi

(3) Atal Bihari Vajpayee (4) LalBahadur Sastry

rE8Bdo BwE), & PEID0B g FTREN2"E Y I,

(1) =5556ersS JHo (2) =mobomo§

(3) oS DF8 FE 20D (1) oF amss & __..-‘-*“'
www.sakshiegigcgtion.com i
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Open Ballot System is followed in the election of members of

(1) Lok Sabha (2) RajyaSabha

(3) State Legislative Assembly (4) Gram Panchayat

wirdol LiSoh ITSo Bod BgeH D395 HL08” wlvododuidod

(1) &°§ S (2) oraug 3%

(3] RIS 3 (4) (S Sowrond
165. The tenure of Rajya Sabha

(1) Sixyears (2) Fiveyears

(3) Four years (4) Permanent House

Tagﬁaﬁ S8 8

(1) & Joddoren (2 o6 dodéoren

(3) arwi Dodd)oren (4) =g S

166.

The Constitutional Amendment Act that lowered the voting age from 21 to 18 years
(1) 69" Constitutional Amendment Act  (2) ~ 61° Constitutional Amendment Act
(3) 63" Constitutional Amendment Act  (4) 661 Constitutional Amendment Act

&80 S0y 21 Sod 18 Hodyoreso $HodS orargod Sd8e0 W0
(1) 695 orergoll ddden w0 (2) 613 orergoll V58 BLoO
(3) 635 orargod DSded W&o (4) 663 orargorl 330w H&o

167.

The Fundamental Rights in the following articles of the Indian Constitution are available

only to the Indian citizens
A) Article 15 B) Article 16
C) Article 19 D) Article 29

T EdTergolSnd’d Bod oY) BESeToS* o (SENE iy o 88 FHok SeER
T 0N,

A) 155 &Sm0
C) 195 |HEdm0

B) 165 @860
D) 2935 (H8Cmo

(1). A,B (2) B,C
(3) B,C,D (4) A,B,C,D
ilﬁS. The arrested person must be produced before the magistrate within a period of
' (1) 48 hours (2) 12 hours (3) 24 hours (4) 28 hours

R:rdaoaoﬂﬁ 5589 (8ot EYN) HBoA$I0S D) Frgofdurd Jdil Srakddcd
(1) 48 foboexn (2) 12 Aodoexd (3) 24 foboexn (4) 28 Hobeo
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169. The election symbol of the following politic

(1)

(2) TeluguDesam
(3) Jammu and Kashmir National Panther’s Party

Booklet Cadg .

www.sakshi =Bc§ n.com

2l party is ot bieyele

Rashtriya Janata Dal

(4) Samajwadi Party

Bod &Y S orafoh Ff INFe DIHo REW e

(1) o@eH ssess

(2) Bewrddo

(3) —=8ny Ho0cin 545 LSS Fody T8

(4) RirSTs i‘."—*é - ey
170. National Voters Day is celebrated in India on

(1) January 26 (2) January 738

(3) August 5% (4) November 26

erdatidosst ook Léod BSEHa R QEgaroi 5o

(1) 26, =550 () 25, 2550

(3) 15, ey (4) 26, SHoax8a
171. Choose the correct sentences about Kuldip Nayar, who passed away recently

a) Hewasbom in Kerala

b) He worked as Indian High Commuissioner in Britain

c¢) Hewasnominated to Rajya Sabha

d) Hewrote “Beyond the lines: An autobiography”

2iSe $H6BoDS EED Sohgd Krd) VOGS FEgSveRs KHBow S,

a) @&l BEITRoSt adoTrEdd
b) @&SS® 88 T EASh HdBardo
c) CragdEty T0IE Dol
d) “Beyond the lines: An autobiography”$9o s
(1) a,b&conly (22 bﬂ&dtmly
(3) bé&conly . @) a,b,c.d
172. The world’s first thermal battery plant inauwramﬂwm = =l
(1) USA (2) China g country
(3) Iﬂdiﬂ ( 4) Jﬂpan
BHowed” O F6)S wrgdd Fol5 & 1Boh Aot B E0DOSHAE
(1) wdobs 2) S Cresh
(31 =odair (4) ;z-a'jvs
N -
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173. The following player won the Gold medal in Asia Junior Men s Singles Badminton

Championship in Jakarta in July 2018
(1) LakshyaSen (2) Subhankar Sarma
(3) Rupinder Paul (4) ChiragSen

28 2018 & 230" 28RS GdAlr 2mAchE DY) WofS) wrdd FP020HINDS”
BpgBEsy oS Earssid.

(ly osgws (2) #ogio86 96y

(3) Brhoss & (4) Do°h RS

174.

‘Sadaiv Atal’is

(1) A comunemorative coinreleased by the Central Government in memory of the Former
P.M. Atal Bihari Vajpayee

(2) The samadhi of the former P.M. Atal Bihari Vajpayee

(3) A Welfare Scheme inaugurated by the Central Government on 25.12.2018

(4) A literary award sponsered by the Central Goyernment in honour of the former
P.M. Atal Bihar1 Vajpayee

'HoS vLS whds.

(l.]- Srd Herddoo® vbd D50 FEDr TITEo o8 (B2hdgo Ddade BRI Y88
TPES 0

(%) S BEsdo ebd 950 & oo DHTQ

(3) 25.12.2018 & B0 @edSEED @GoPoindS doki dko

(4) Srd PErd Do® zhd 2% FEhor FETgo Sod BedEoB RNgidm)
Rrerdy W

175.

(4) BHTesS Eu)d wn F8)

On the eve of Indian Independence day, 2018 the following person was awarded Kirthi Chakra
(1). Sepoy Vrahma Pal Singh

(2) Rifflelman Aurangazeb

(3) - Major Aditya Kumar

(4) Lt Col. Arjun Sarma

68 FSod@gdIESo, 2018 voddom 53 HE W;R FoBS 58

(1) Drow @i &S ol

() DHEKS TENES

(3) Foub wddgroidrd
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176. Expand KUSUM

(1) Kisan Unnathi Sochana Unnath Mahabiyaan

(2) Kisan Urja Suraksha evam Utthaan Mahabhiyaan
(3) Krnshi Unnath Suraksha Unnav Mahabhiyaan

(4) Kisan Utkrisht Suraksha Utthaan Mahabhiyaan
KUSUM 9560508,

(17 B8>S &30 3o &HS 2FDSTS

(2) 8BS &g dp 5D @S HIPASTS
(3) Bh &S Oy GHS WIHFPAETS

(4) 85 a@H WIT GFES HT*DDS

As per the RBI annual report for 2017-18, released on 29th Aug 2018, the percentage of

177
demonetised currency returned to the banking system was
29 eidy 201885 ®HEGoDS dmby wrgos whH mobodr TBE DI6E 2017-18 Hs~88x
JoSTEIN SFond St rgodoh SorrdE 8BA Hyyow. ’
(1) 913 (2) 98.3 (2) 99.3 (4) 100

178. The Egyptian photo journalist who won the UNESCO press freedom prize 2018 1is
(1) Mahammed Hussian Zaidi (2) Mahammed Durani
(3) Mahammed AbuZeid (4) Mahammed Yasir usman
UNESCO @8 @42 (@& 2018 J S08d $2lohs éE° 28609 I587?
(1) Sofrsy5 vins 86 (2) BoTEE ST
(B) Sodrsnsd war B8 (4) TS a6 AR

179. “Vruksha Rakshak™ is

(1) a special task force of Government of Andhra Pradesh to protect the Red sandal

wood trees
(2) a vaccine invented recently by the scientists to save trees from diseases
(3) aTree Ambulance service launched by the Government of Andhra Pradesh

(4) ahospital established by the Forest Development Corporation of Andhra Pradesh

“598 GEET ©5088.

(1) Yoo @HaT Dehds JSHosSo 38 dgee §'%0 AcHoDS @’3355 L), G)
(2) e Tgdo Dob SEm SOIEIS TIIgen nilise ESofd) ag8)e
(3) oS Behdso FEoDOVD ¥ 2onBY) >

(4) so@PBe VY BILR0H SEY0AS FHoDS 2,8 SBoE
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0. 1
. 18 inb%ziutgus{ 21{10181 W 1111ch country ]aanned the sale of existing hornes to the foreign buyers in
1d to tackle soaring house prices and rising homelossness in the country?

(1) Singapore (2) SriLlanka

(3) Switzarland (4) New Zealand

?aati.jad:e:béal Y GO, ITFODSH AoHoBoB &G¥gSns® S5 BoS® ABEDS KyFfol
ITB TR T g i) Srasd eXy 20186° Jhigo IHoDS Bo 8?7

(1)' ~olars (2) 3eoof (3) RgiyTos (4) Srgzerod

| e

181. ‘Noon School Assembly’ is an innovative, effective concept to absorb vitamin D through
sunlight for students. This is a part under the

(1) Project Dhoop by FSSAI

(2) Project Vitamin ‘D’ deficiency by FCI

(3) Project Sunshine by FSSAI

(4) Project Surya Namaskar by Government of India
dorghen Irdgsrod Sod s DI Harosards “HHgrgsn FéTo wnod’ ]
DErE), PTS50STS S L (§od @RS arifo
(1) FSSAI =8 (&&8§ &

(2) FCla8 8§ 205 ‘6’ abhony (VDD)
(3) FSSAIl =6 \&3§ SRS

(4) erdd (Hebege 78 “I&rdséa’nﬁ)’z{gﬁ B

182. Match the following.
| a) BRICS Summit, 2018
b) BIMSTEC Summit, 2018

i)  Johannesburg
ii) Quebec

iii) London

c) Gy Summit, 20138 v) Khatmandu

d CHOGM -2018 '

339‘5:]6‘:50&'- : 555 S\ed

a) BRICS d803%0, 2018 l)} EGS;;J d
s 2018 -

b) BIMSTEC &#5r3%0, iii) ©ods

) Gy dsrdio, 2018
d) CHOGM -2018
(1) a-i, b-ii, c-iii, d-1V
(2)  a-ii, b-i, c-iii, d-1v
(3) a-i, b-iv, c-ii, d-iil
(4) a-iv, b-iii, c-it, di
41-B

www.sakshieducation.com

iv) m‘b&o&:




Booklet Code -.

e Minister Narendra Modi for hj

www.sak d&e tion.com

183. Seoul Peace Prize 2018 was awarded to the Prim
contribution

(1) Towards disarmament

(2) Inpromoting peace talks between South Korea and North Korea ;

(3) To improving international co-operation and fostering global economic Pt
(4) To promote harmony among Asia-pacific nations N

& Bob BoKod' TS HHNEMTD 2ATFS Tod wITvNS 2018 HoS&yoeR8 Lﬂ@éﬁaa@
$BoEBrd JoDEcSrgd. |

(1) dorcsw{Ese
S8 EBoir, &8 Socire My Tos S =y0rofoRKoth s

(2)
(3) wodgdch JFsddn, Pdow fFTNITOD odododHodat
(4) wdosr - SWHE Bre Hogy FSEFEY) DoFobaRLoSE R

184. Nomadic Elephant, 2018 1s
(1) a first baby elephant born in America through cloning technology in 2018

(2) itis a joint military exercise of India and Mongolia

(3) itis a joint military exercise of Mongolia and South Korea

(4) itis a joint military exercise of China and North Korea

Nomadic Elephant, 2018 ©3&

(1) ERoh BEcH ogo 2018 &' wBrosS” PPI 'O 201 Do

(2) 288 $oROcSr GTe Hodiuf PAE IR0

(3) Srof'doSr, B8 TS TF e DodSng RIS JTGRo

(4) B, &&E8 Foor Dro Joding RIS HEIRST E

185. Gurudas Agarwal was
A civil engineer working in Namami Ganga project who died in floods of Gangal

(1)
July 2018
(2) An econoinist to assess the project cost of Namami Ganga
(3) Anenvironmental activist died in Oct 2018 after a hunger strike demanding to cles
up river Ganga ‘
(4) A Human Rights activist died in Oct 2018 in a terrorist attack in Jammu & Kashm!

ETS ©RTS
(1) #5000 Hom @BES” 533z onB 20186* Horrss SE60S* Sdbod LIS ol

(2) SSras Som FBE H50STQ) wodar D w83
(3) AormsB srevtigo K0d Sfomred §HEr VOEEE B5Y e 20188° 6507

Horgdde 34
0§t 2018 & Sy $0080 FHES SUETDO &8 & DEBoDS SrSSTHY

@rigso 5r8gEG

(4)

A va.bdkbiH.%Clﬂé:atlon.Com i
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186. The launch vehicle that injected two satellites of the United Kingdom into orbit on

16" September 2018 from Satish Dawan space centre is

(1) PSLV C40

(2) PSLV C41

(3) IRNSS IH

(4) PSLV C42

SARGT IS woddy Joo H0od WNITE S0AEIE TobS Bodd GIAT O

Do 16, 20185 §E5S5%8 DITHES TrESE
(1) 2oHRISD C40

(2) DaHSISD C4l

(3) 2w6253%2% 1H

(4 oHBIED C42

187.

In December 2018 the Reserve Bank of India appointed the following committee to decide
the appropriate level of reserves needs to maintain by the Reserve Bank of India.

(1) Raghuram Rajan commuttee
(2) C.Ranga Rajan committee
(3) Bimal Jalan committee

(4) R.N. Malhotra committee
r88cs Badyg ergode SE Doren e Dod8 BoTol @oTR) AFonohdsd

2018 Bponbes’ grddics Bathy argof € §od §8D JohdoDod.
(1) Sdpon orad 8

(2) C. sofioras 08

(3, DS aore S

(4) RN. &g g §08

188.

The cyclone that devasted the coastal boarder of Andhra Pradesh and Odisha in October
2018 was named as “TITLI" by the following country

(1) Bangladesh (2) Pakisthan

(3) Maldives (4) India

wf0h 20185° @oPIHBT So60%0 2,837 BOFE SSFoerd) Se380DS KK ‘88 m
TSoEdmo B B¥o

(1) worads (2) >8a

(3) Sr9dHen (4) =mo&odir
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189. According to the Ease of living Index repo

) hT:vg Booklet Code :
www.saks n.com

; o Housing and J
Ministry 0f TG Urhgy

rt released _t'}’ 4 first as the easiest g
affairs, Government of India in August 2018, which ranke '3

live in India bai
(1) Navi Mumbai (2) Greateimmn
(3) Pune (4) Rampt

. * Ease of living Indeyx,
Bos Ay S00cin SQmdgdTioe Soo@dgg TP sy ?tUlS N HéieTeA8 [ Er'::
BewdBoDS IIBE Psdo erddBdost Ease of iving g ) K
edodod,

(1) & Sxwoerow
Q) v

(2) Bb BR0ETOP
(4) oo

190.

: - gt '
The focal theme of 4™ IISF (India International Science Festival)-2018 is

(1) Science for sustained growth

(2) Science for peace

(3) Science for transformation

(4) Science for Vigyan

45 1ISF (m0Basr @otd)ass &) pes)-2018 ong), FES 6
(1) Jon¢ «d5HRE TR dp;do

(2) 7088 TZdEgSo

(3) HBIESE T JJepdo

(4) DepiSo FEH T gageo

121,

Who among the following are women recipients of Noble prize 2018?

a) Malala Yousafzai

b) Donna Strickland
¢) Frances Arnold

d) Svetlana Alexievich

2018 Sfa05 2008 & ol T°0S" FohS Badrden
a) - Soerer obrdo=o®

b) &' REorod

c) @RS wong

d) Tges edfod

(1) aandbonly (2) bandconly (3

) b,e and d only (4) c andd only
44-B
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192. The Leaders and dignitaries of those Nations that involved in the World War - [ met here

on 11.11.2018.

(1) Paris (2) Berlin (3) London (4) . Masco

S00e5€3 @':‘::mﬁo‘.’mc‘m.ﬁoﬁ‘ Sonogo JN) BTe wdIdes 005N GHe s e 11.11.2018
8868 28,8 SSrIFSoasrg.

(1) 268 (2) BBS (3) wodS (4) Say
193. Which of the following is the Regulating Authority of Capital Markets in India?
Eo8 T8 rdddios’ Surods Srf b daho@od voR 6?7
(1. SEBI (2) RBI (3) IFCI (4) WTO
194. What is the experience of the Indian Economy related to Intemnational Trade?
(1) Trade Surplus (2) Trade Deficit
(3) Balance of Trade (4) Balance payments equilibrium
ch‘in;éctb TgFT A8 Dowofod) EH @gé ;’Jgéé ©RS50 JDoe3?
(I} S5 dotden (2) H8§ &'
(3) 368 dFogo (4) Ty DYoo FTA IHT g0
195. How many commercial banks were Nationalised in India in the year 19807
erdsBFoes* 1980 5 2038)0506° Fdckho Dabadd aredey wrgofio Jogg Q87?
(1) 3 (2) 14 3) 12 4) 6
196. Which of the following is said to be Third Pillar of the World Economy?
(1) IMF (2) World Bank
(3) WTO (4) UNO
(HDHoS B8 HgHY St Hogorr 2S00 87
(1) wodgdohd EHgad (2) ©BBow wrgosd
(3) BHos srdag S0y (4) w=8gorag daoa
-. 1197. According to 2011 census, which district of Andhra Pradesh (after bifurcation) recorded

the least sex-ratio? |
(1) Prakasam (2) Kumool (3) Krnshna (4) Ananthapuram

2011 aer B o B5780 so|PDAT (DS wdo8do)s” wdgw) @~é}d}ﬁ QDG S3ored
Tl 2 287
(1) @sdo (2) E&meo (3 83 (4) wSodHdo
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198. Expand NETA

(1)  National Electronics and Technology Agency
(2) National Emission Testing Agency

(3) National Electoral Transformation Application
(4) National Energy Transformation Application

NETA 2 D%8osn

(1) JA3& dogs) wob Bsmwd DEY

(2) I8 IS BRoh DBY

(3) IAIS JoFESE ErSpEIons wPsAS

(4) BASS IS§ ErHIEHAS ©FEAS "

199,

"The man who got ‘Uttama Jeevan Raksha Pathak’ award for his bravery

in protecting

52 Amarnath passengers from terrorist attack was
(1) Lt Col. Rajit Kumar (2) Shaik Salim Gapoor

(3) BabluMartin (4) Decpak Sahu :
BoTdoo $08 52 5008 wbTE Gr@hed Forses’ FIraSodtmd “egh

£S5 S5 OHEET watdd wodoiud) Sg8
(1) BP0 Ee)s EudKsrE (2) af %90 Kb
(3) =2y 58S (4) B35 v

200.

Which of the following are correct regarding Jnanpith Awards.

a)  Jnanpith Award 2018 is 58" Jnanpith Award
b)  First time in history of Jnanpith Awards, Jnanpith 2018 was awarded to the litarary

works in English language
c) Amitav Ghosh was honoured with Inanpith Award 2018

d) Ravuri Bhardwaja honoured with Jnanpith Award 2018

06wt Jomodod € ob FHST FBLD.

a) 2018 :pSH6 vty - 585 0 g

b)  pdhE warfe SBSSTD Jode3ame 2018 08 VI8 wolf grar @12:155505'
D03 HRhsmrd asgadod &

c) 2018 pd06 BEird - 0SS 350

d) 2018 e;;k')?)g s - OB SEarge

(1) a,bé&conly (2) b,C&dﬂnly
(3) a&conly (4) b&comy
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